A 50 uM PregS B 50 uM PregS
81 ACh 10 4 A—Ch
8 4
6.
6 4
4.
- 21 2]
o4 e
1/__/___ N -_L’—/’_
-21 WT V990M
. . . . . . -4 S ——
0 20 40 60 80 100 120 0 20 40 60 80 100 120 140
Time (s) Time (s)
D 50 uM PregS E Il w7 TRPM3
6 __ACh 100~ [ vooom
o . B rio000 .
i
—~ 41 <
< 60 -
E) S
= 2] =2
-E 40
ol =
20 4
'2'V
P1090Q
4 " " " " " . 0-
0 20 40 60 80 100 120 [PregS] (uM): 50 50 5 50
Time (s)
G 17 uM PregsS (EC,,) H 06 uM PregS (EC,)
6. ACh 5 ACh
5
4 4 2
< 3
- 2 1
1
ol oo 0
e U —
9 WT ; VO90M
0 2I0 4I0 6I0 82) 160 150 0 2I0 4IO 6I0 8IO 1(I)0 1I20
Time (s) Time (s)
J K
100
. . Il w1 TRPM3 54
80 - a 2 V990M
L O N
£ B rioo0a

Inhibition (%)
I (uA)

N
o
!
N
N

20 1]
0 0-
[PregS] EC,; (uM): 17 0.6 7

Figure 4 Figure Supplement 3
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